Choose the mog appropriate technical translation -

' . . 1o linked with |8 . ‘
1 Which of the following bird 18 linke of the following word |
- le? . Circular :
phosphorus €y¢ con
(A) Kingﬁshel-U d Eg)) I();lffs:) (A) @ *(DB)) N
C) Humming OIF b A
(©) ﬁ%ﬁqwqaﬁmﬂ?ﬁﬁ@ ©)
(A) ERIER (B) e 9 If log27x'=%, then x 1S equal to -
(C) whim _993 g , 1 ,
I : TPV - = ER'RT{ e
5 How many districts are desert districts in| A logyy =6 o g
Rajasthan? L AN AB)
W%Wﬁ%ﬁﬁaﬁﬁﬁwﬁﬁ%? _ : D) 3
(©) 27
A) 1 V(BD)) % _ e :
©) 13 ®) 10. “:’3)“ g | iO Rh factor is an aﬁfigell situated on the surface of
- : - 0 2 . :
3 The area of. an equ_llateral tr}allole is 25J§ cmfb ~ 7A) Red Blood Ce lIs
then its perimeter 1s,-. g 1563_5 (B) Blatelets
(A) 50 cm (B) 5043 em j/‘&‘\‘i,g\o (C) Lymphocytes
(C) 60 cm (D) 30 em &% (D) White Blood Cells
T g BT B A 2543 W E, @@ Rh 1@ b T & Sl P qaT
oo ® - . ) Rera 2 ®
- ‘ A BT BT
(A) 50 ¥ (B) 5043 ah .,gég S
(C) 60 & yﬁ) 30 FH _ 3
$oe. . (C) fwmraged
4  Cinnamon is obtained from which part of the plant? _(.D) 9T BT H
(A) Bark (B) Leaf : o _
(C) Flower (D) Root 11 ‘ghafer = & @9 a1 9w § 7
T, TrEw % fRE S ¥ AT e ¥ 7 (A) sgdiite (B) srerdvE
(A) B B) w © fag D) e
W) & (D) == ' ' o . i ‘
12 Golden rice was produced to reduce the deficiency
5  Reliance Industries Limited will develop India's of - among people. .
first Multi Model Logistic Park in - (A) Vitamin A (B) Folic acid
(A) Karnataka (B) Tamil Nadu’ (C) Magnesium (D) Vitamin B,
(C) Rajasthan (D) Gujarat . - : GE T HT T F N EI?FEﬁ:ﬁ e
Frama gvsE, RS I WG @1 e weel qisw B % g fear ) ‘ |
s T % fetam R s ) fafe o ®) W o
*) : 2. = ©) it (D) T &,
(C) TSR (D) 7T _ 2
' . 13 Which of the following is latitud; .
& Bibeiinatoid arfhritis i alan, . disease. 4 Rajasthan? owing is latitudinal extension of
(A) hypersensitive  (B) bacte.vrlal ” (A) 23° 03' North and 30° 19"
©) fungal (D), HSBITITIGG (B) 23° 30" North and 30° ;%' IEI(Z)L;:E
gHeaE \’:TT Th T %l , (C)‘ 23° 30" South and 3(° 12' South
* WW ?Ii)) Rl 1(2"1]2 §3; g;;‘North and 30° 12' North
Nz . , (Ay 230 gar - T B Sreshr e & 7
03' $¥ T 30° 12" afiqur
NATE’ @1 feedl vt erez & — (B) 23° 3¢ )
‘SUBORD . ST T 30° 21" gy
e (B) (C) 23° 30" afiye g
/PL) il (D) El'ﬁ-% M W?,o 03! Qa 3.90 12! aﬁ:fu'[
(C) e ST Tl 30° 12" oy
2
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How many minimum meetings of Gram Sabha are

compulsory in a year?
wawaﬁwaﬁﬁmwéﬁmﬁmﬁ%?
(A) 3 e ) 4

© 5 D) 2

Choose the correct indirect form of the given

sentence from the options given below :

She said, "We were thinking of selling the house

but we have decided not to", : :

(A) She said that they had been thinking of selling

the house but had decided not to,

(B) She said that they thought of sell
but decided not to.

(C) She said that they think of s

but had decided not'to,

(D) She said that they have been thinking of

selling the house but had decide not to.

ing the house

elling the house

6 Population of a city is 1 crore. If number of live
birth is 85 thousand, the Birth rate is -

Th R B SEE 1w ¥ afy i s Rrgre ||

I FEA 85 TR ¥, A9 S I ¥ -

85@09
(A) 85 AB) 8.5 W"’“‘:ﬁ
(C) 0.085 (@) 085 8.5

(A) Depression in crescent dune
(B) Artesian Basin -
(C) Playa in desert
D) Oasis -
gmiw{emﬁf G % A A AT S @y ?
(A) TEHR IgH TqY X T

(B) S&ga S

Which is named as ‘Dhand’ in the Thar Desert ? |

19 VLOOKUP function used to :
| (A) Looks up text that contain ‘V’
(B) Check if two cells are identical
(C) Find non related records
(D) Find related record
VLOOKUP %#™ & %ar & :
(A) @& 9= gear & | V% ,
(B) 3 99 ® UhcH GUMGT & T @dT &
(C) T e e A Rt o 2
(P) fred g Reaté e B

of painting? |
" (A) Marwar (B) Dhundhar
(C) Alwar (D) Mewar

ig R Aifead faseen @ few Sielr &
qeifg €7
(A) ARaTs
(C) ewax -

(B) Er
. D) Here
¢|oee

21 In aquatic ecosystem, the limiting factor for
productivity is

(A) " water
(©) soil

(B‘) air

22

23 A person by

1ys
and se]] the YS pens at the rate

fe s m at S
is his profit i € rate o

(C) woww ¥ <
ﬂf) A
18 | The median marks from the following cumulative
frequency curve is - o
1;1:11 gl agha 9% ¥ AL i ¥ -
2] 50
0 S :
S 4z p 30 pomeemmmmo |
u(/.)- % 1\ 20 t- E
O. % 10 §-- f IE
= 1
i 0 710 20 30 40 50 60
Marks / WT<iics —>
e (B) 45
(cg p (D) 25
3
avs2 1 O

20  Famous painter Sahibdeen belongs to which school



STvaa 1D CLELULl 1O UG 1TLL Gl Saaiias | =
et 1 from the right. When they interchanged
places among themselves, then Aman becomes

ev .
N .e_nth from the right. Then what wiilBe:Roma's
POsition from the left?

is seventt
th

T el

Enferpri;es of Rajasthan?
(A) To monitor the functioning of all state public
gector. undertakings.

e ‘ ‘ o) (B) To coordinate working of various state
(A) 11th Y 12t 0N enterprises. - »
S ) 13th (D) 10t . (C) To serve as a clearing house for the collection’
U G & Qe ey @T%W%ﬁm&%w of information for all state public sector
T ¥ A ot ¥ ot e i o G;R?r dertakings. : ‘
e g;—? gﬁ‘( Q. TaEst & e _3[’—; o D) 'lgzj;sss“tﬁe guidelines to private enterprises in ;
L T By ? ' SRS an. _ : et
(A) 11 5 MRl e TSTRAT % WIS SUBH A 7 B i
(© 13 = EBD)) ii:rl - (A) w0 eftE 4 % S B wEt W e
25 'Indira Gandhi Urban Emnlcon S50 ®B) T F Tl st B e ¥ a
Scheme' of Rajasthan wa mlploymeml-@‘.‘a-rantee ~ vLr, .
(A) 9th sepe: vas launched gn.. (C) T F ol wewfs & % swent
ptember, 2022 L) e g
(B) gth Sy I e el B B %ﬁ ESEIFItS e
NOVember, 2022 LN - (D) . TE T /A )
(C) 18" November, 2027 " - e - W F Pl sumt w Reem—Rrar 2em
(D). 15" August, 2007 - 0 Tk v
o .IE”'?'?[_'?&'{TWTE?FQ e Y. . If cos 8 =< then t —9
LT B Ry e 2 m_&m m'“"‘“"“”m ke B i
./(@B()) :ﬁlﬁ‘%ﬂ', 2022 =y . s 'Q;ﬁ -Hﬁ;’cosﬁ:%, ?ﬁitanel=?. »
) 8 R, 2022 @ - L0 s e ‘
(C) 18 ey, 2022 =y A A) @ ; N —a_ - .
D) 15 erred, 2022 &y (\.\]-1_%' ¢] . '- _ b2 g2’
e 1 © 5~ o NPT
. o ( 2_ 2 bs — g2
26 The value of 772641 is - 22 ﬁ , (D) Ta
} ' R L 31  Exam . .
V772641 &1 9F ¥ - . : ») ; i ample of logical Operators ig
A) 871 @) 891 ' (A) + o ¥
(C) 889 (D) 879 . Lg N © xor X
: - P 32 . Wh; :
‘ . : 2 E\ Wlllch .
27 gvsﬂa?f-%. g $UE G 1 F Wb 'EEF@{ EIN) (A) sl(:llle of the following ;g
BT & — , : B) edr;ur = Ramcha‘ranjl Wrongly matched!
) ST W U P @i O | ©) Sing'htﬁzlh_%;n,d%ji :
(B) arex & 9wy IT garn ?) ) Ren :3{ Dariyanriwansl}ji_
(C) BWR 9T H& 7 e : w
_ = (A) EYRT — T -
(D) @15 @1 Teeg, BT LEy ; (B) dery N Ere T T gt &7
_ . R =N ) Riwer E&agm“ -
28 ‘SrEEwEE 7= % g U wrde AR - (D) 31— <y
(A e g A R
(C) enwiramm % drg (A) 1030301 :
D) ﬁ'c A R T . (©) 1050507 (B), 1040401 .
\ ] ),QBT 1020201
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34

35

36 Choose the correct antonym of the followmg word.

‘mﬁﬁe{mm%l’wﬁm%—

K) e e (B) qHaie fmar
(C) AU i%ﬁm - (D) GFFFTEH f?m:n
In order to get a diminished, v1rtual and erect

image, the object can be placed anywhere in front
of a mirror.

(A) concave

(B) plane
(C) either concave or convex

(D) convex °

ﬁsé’fa@(féﬁ)air@'a enwa@rmeewm'

a&wﬁsamﬁzﬁé’rwﬁrarm

T ¥Y
goar el
(A) sEEd
© (B) wEEe
©) m?ﬁaﬁaamtﬁm

VQESW

from the options given below

Encourage ~

A) discourage
" (C) persuade .

®) incite
(D) aid

39 Geo-stationary satellite revolves at
(A) Fixed height
gg; Sny lhelg;it above the poles
» eight which de

iy _yghe;ght pends upon its mass
q-fRux SUE AT § -
(A) Rex FuE W

(B)- g?l’r % SUT fopdr Sag Ux -

errm{ ST g™ WX FET 8
(D) (ﬁﬁ;ﬁ f S W

| 40 Whoqsf author of Amarkavya Vanshavah?

(A) ]2 iivan Bhatt =~ (B) Sadashiv Bhatt
K(®)] Ranchhod Bhatt. (D) Jeevadhar

Goae F q@H BT &7
mﬂﬁg A{B) qaimE wE
D :

M,(C) Tﬂm’ﬁf VE' ) SiEreR
Und@

the

wlnch Artlcle of the Indian Constitution
oyernor can Ieserve the bill passed by the

a1,
g;ature for President's approval?

legi

(A) A Article 257 . (B) Aticle 213

(C) LAtticle 200 - (D) Aticle 256
| R fee e % e T Ry Avsd
©E ﬁﬁﬁ%@ﬁﬁrmaﬁmﬁfaﬁﬁﬁ?ﬁr%ﬁgﬂﬁ
C g gedr &7 :

LAY aE 257 (B) ogR% 213

©) %ﬁz 200 . (D) orge 256

42 Part[sa"il electlons for Panchayati Raj bodies was -
recom.lnended by - ;

37 Which of the following is Indias first pr_ivateiy
. develop,ed Rocket? - 5 (A) Lﬁ hok Mehta Committee -
. - B) ‘K. Rao Committee’ -
(A) Vikrant-S. . (©) sadiq Ali Committee
(B) Vikram-S (D) ‘K* Santhanam Committee
PSLV-G mﬁrwweﬁ%ﬁmaaﬁuﬁafﬂﬁmjsm
(D) PSLV-XL AL ey @ G , _
ﬁqefﬁaaﬁ_aa?mmwmmﬁvﬁaam (A) (5 ear WKL
. ﬁm"{ﬁz%? : - ; : '\Tﬁﬁ%ﬂa'ﬂﬁﬁf
) . S AR AT 7% (C) '@]-{:.g—iqaﬁ affa TPT
(A) famia — T (D) Py FETTH SILIN]
(B) Fod — T . ' iy .
(©) x,ﬂ-qa'qa?ﬁ — o 43 Whoq;:mdely reg?arded as the _,fathelj of the India's
ace programme? . - : s i
(D) et — GRS ?K) DI; Vikram Sarabhai
o (B) &% A.P.J. Abduli/I K}zlilagl .
] . for black pottery? (C) Dt Panchanan lvahes wari
, 38 Whlc; plziizr;s f‘amouS(l:;))r SawalpMadhOPUf ’ (D) (Q;j Homi Jahangir Bhabha
ans
Eg; Chittorgarh (D) Jaipur = ; : ﬁhﬁwﬁqﬂmﬂﬂm & STl %@f HIAT S % ?
mwememaﬁamwm?- @) &) u S, ogw wEH . |
(A) arEEET (B) war FTHGT (C) &I JEFT "REEd - MR
(& rriieTe (D) s (D) &) o i s N
5 B »
avs2 1 O - [ Contd...
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44 “Zero Hoursr ill 1ncllaﬂ pdlllau ....... J -

substance. It works by
implies the - 7

i B) adsorption
(A) exact time when the question -hour ends. (A) relducltl'mtlv ED)) oxidation
(B) time allotted for informal discussion between (C) bleac nnbﬁ o . for P—
two stages of discussion on a b_lll. _ . O g8 e "/ T Wm A ?EIEiI‘I
- . (C) Specific time allotted for a discussion on %) 7w Tpg WHT F T T &7
budget. | : (A) o | AB) S
(D) time between question hour and next _1tem on (C)- ' (D) -
the agenda when the members raise any "‘? (S SICRICTR
matter without permission of the chair. s - s
ZT:;{ ;Z N T og ?;3—,? Bl Hq?:{ g;;m%ﬁ 149 Ihe average of _8 consecutive integers is -5 - What
(B) z‘;@smwaﬁ & < = & A ST ~ is the average of first three integers?

(C) wwie W ==t & fy omdfea fafyre @)

o o item BT, L)) 'Smmaqyﬁaﬁéﬁraﬁaﬁ'—?%ﬁqaﬁ?hﬂugﬁaﬁaﬁr
O A SAT w -

. 1
[ W GO e A AR B I B o T LEE/’ _Q_i)o@‘{
RN SRS ol @ s )9 X gq
_ . © 10 D) 7 D9 o s -
45 When in the system input, pr ' ' ' G }
known with chtainly, 2uchp S(;::;air;dcgﬁ?&x t are 50 Whi_ch one of the_ following Samskaras is related
(A) Close (B) Probabilistic . to birth?’ PR '
(C) Deterministic (D) Open: " (A) Mosar (B) Samela
ST9 T YU F §YE, W 9 omeege wedt ¥ ql | (C) Jadula (D) Bindoli
WE WG §, 9% WOe wed Ly ¢ . TR Y - iR e Y dei 37
(A) st (B) @R T @ HEE T (B) W@
() Traas - (D) &fHA, : : J,(Q) SigE ' (D) Tkl
46 is a process of translating a task in 8 |y i - . ’
series of comrlzlands that a compu%er will usgo-tg > For_whgt value of n, (x +a) is a factor of
_perform that task. E : X ' (x" + d‘n).-) sat ! o
A) Systf:m Analysis : < A) Onl .f Lt -
(B) Coding _ . ) Only for prime values of »
(C) Maintenance i ( .(B). Only for even values of n
(D) System Design G s e (C) Only for odd values of »

T BTl B SR Y ST ¥ S wey (D) For all values of 5 -
ﬁmmﬁ%ﬁ%wwmﬁmﬁ%m %:EW‘TH%,;%Q (?F+a)a(x”+a") Eﬁrqa;w .
(A) Tawew faecwer (Tfaf) 0 | i i wr g :

JB) wgm SO bgg Z?;:qu-ﬁ%m
(C) dfAw (Tayam) , - (c %WWW%ﬁﬁW
(D) faew feamgw -~ : ’ ) e w %

47 What is function of Rural Non-Farm D
Agency (RUDA)? -
(A) To develop Non-farm sector
(B) To develop educational institutions

_ ) n % T T ¥ fa
evelopment 5 :

52 ' Chambal Project is a joi ‘ ‘
: . " ‘ Joint venture of .
(A) Raj_asthan and Punjab Sl ok
(B) Rajasthan and Gujarat °

(C) To provide electricity in villages . - (C) Rajasthan and Madhya Prades}

(D) To develop agriculture O (D) Rajasthan ang Haryana' 1 ‘

(A) gl & | (A) TeTET ST ey g R B
_(C) ot o By ) TN o qey wag

qvs21 O 6 - Conth

i



54

55

56

57 What is

58

—— the job.
(B) beneath
(D) over..

He took ages
(A) above
(C) of

Where did Chief Minister Ashok Gehlot lay the
foundation stone of Dr. Bhimrao Ambedkar Law
University on 16 November, 20227

(A) Jodhpur (B) Bagru

©) Kishangarh (D) Alwar .

16 e, 2022 @ geg H el Tewd A

<. S st R fagafera @ s

wel @l ? :
(A) EgTH. e
(C) Frerme & (D) ar@ax #

A sum of money doubles itself at compound
interest in 15 years. In how many years will it
become eight times? . -
oo & TR wEghE S § 15 ot & g @ S E
a6t F TE e T & S ? e
A) 45 . (B) 60

) 75 (D) 30

v@) B

(C) =
reason of frequent occurrence of drought
and famine in Rajasthan?. :
A) Trrational use of water
(B) Sail erosion . g
(C) Irregular rain
(D) Deforestation
e H "—E] a3t T

erferdequ SaET

Ctrl + Y is used to :

(A) Close a document

(B) Redo or repeat last acti
(C) Undo last action
(D) Align a paragraph

on

4

61

62

63

Ctrl + Y H fpar <A ¥

60

1 P
2 (A) (i) and (i)

.substituted for the given sentence :

The i ife i i i
) Weakperlod of life in which a person is old and
AA) Impecility (B) Senility

(C) Superannuation (D) Dotage

Which of the following igneous rocks are found
in Jalore? :
(i) Gabbro
(ii) Granite .
+ (i) Rhyolite
iv) Basalt ,
(B) (iii) and (iv)

(D) (i) and (i)

(C) (i) and (iv)
qrg S & 7

Pt & @ T Q-oa g S
NOREC . ‘

(i) T
- (iii) wEwEe
(iv) @
9 (D) A (i)
©) (= @(v)

- (B) (i) T (V)
@) OFGE@ .

‘Choose the correct option. . _
Tenders should be written in a Janguage that is -
" (A) informal . "
(B) stylish.
(C) brief and to the point
(D) roundabout a lengthy

A AR S ¥
C(A) BT B T
A(C) i (Dy=Yard

The process in which a carbonate ore is heated

.strongly in presence - of limited air to convert it
. into metal oxide is called -

(A) Rgduction . (B) Calcination

(C) Smelting



- the TOHOWIIE “iiag ==

" yl\{llcl)llzlc:ulc:r ;cissors’ in biotec|1t1olpgy?
. (A) Polymerase ;

(B) Hydrolase .

(C) Restriction enzyme

D) DNA ligase .

%%Wﬁﬁgﬁamwmwﬁrﬁﬁ

& wew ¥

(A) et

(B) TS . i
AC) ity domen (WRgaer o)

(D) "épmigilwgﬁr—f . |

65 Which oii‘u_tthe following forts is awarded-¢Best:

. destinatiorrin India Silver Outlook Traveller Award;
202272 ON

" (A) Hawamahal

| (B) Kumbhalgarh
© Ralﬁh-qmbore

(D) Jaigarh -

P it % & Rl e Sedow o gt
R oM et ermité 2022 ¥ o 7 -
(A) Ty ) TG S
© T“T?ﬁﬂr( D) smw _
66 2024 Sur%;%er Oly-mpic Games will be hosted b
: A) Parfs™ (B) Moscow ;
C) %atar (D) Tokyo
2024 zhstwr-h—-[ ST B o AT i i 2
AR WEs (@) e
- © w, (D) i

67 The bactie:;fil E. Coli responsible for diarrhéea are
(A) Grzfrr?%egative (B) . Gram neutral .
© Nor’i-:'\hi-ﬁvasive .~ (D) Gram positive ",
T & R { B e ey ¥
(A) ™ FOTew (B) , 9 ST
(C) - ghafma Jﬁf T S

hebve L
The ranéqQ%rom the following; belonging to the
lesser Hi%_é}l_ayas, is -
(A) Dhaiifadhar
(C) Given-‘all”

68

(B) Mahabharat
(D) Pir Panjal

Freefed- & P & v Sk - [

(A) difar © (B) WeMRA
€ R D) 9 b
s ol '

69 What number must be added to each term of the
ratio 4 : §f§p that it may become equal to 5 : 67

ST 4 35,75 WA UE ¥ S W HeA W vy it

|7

S 2t

,. o A 8, @ B -

LN T

*m) v

—dEg =
(A) T (D) dE —

(C) T — yatet

‘altitudes from two vertices of a triangl,
ilf];lfpglcl)[;?tf sides are equal,.then the triangle
(A) equilateral (B) 1§osceles
(C) scalene (D) rlght—apgled
o e et & < ot & wE el o s ™

(A) TwETE : ) SIS
(C) frwmarg.. . - (D) wHa&M
2 . Preitea . H ¥ 5 maE e (R) Ny
- (A) R B siftrgare
(C) gE® (D) i+l

3 Which blood type.is a universal donor?
(C) .AB* .0

Diamond.isa™~ "~ . -
(A) Isomer of carbon’
(B) -Isotope of carbon:
(C) Isochore of carbon
: (D)_ Allotrope of carbon

. ; f th
.(cg . (B) 1m . nebaseis
trf%:q; m (D) 4m,.

I A BT aRre g 3
12#%13@;%&1“@.%%_6# N

T ey
J 2 >

D) 19

T8 q ;5 6 & TqE B Y7
(A) 2 .. (B3
© 4 A0 1
k. ¢o
avs2] O CERT
2 R &
8 ok &

e B) 1+ .
() n (D) 4,
176 Find the missing rimber.
6 : 18 9 N 14 25 . L
& 4\ 6 15 7
(A) 20 v(ﬁ') 22
(C) 24




€Il 1IISL twu
30 1 here 15 a detinite relationship betwe

ionshi
problem- figures. Based on same relaﬁons p
choose the correct answer figure.

T % SR A T PR BT R

Problem Figures / qwamn sl

Py

@ (In) ey (Iv)
Answer Figures / S Nieatof

(o]

?

(4 CAD - ®) @ s
# r . V'II,‘\;:’
O N
D o o SYVANES
87 The first 'Lokayukta of Rajasthan was -
" (A) K.P.U. Menon (B) K.S. Sidhu
(C) M.D. Kauranj - - (D) LD. Dua
: F ey q ‘
) &qg, A (B) bum. fmg
©) 3. ey - (D) g4 gay
88 The members of Legislative Council are appbintéd
through - :

(I Direct elections

(D) Indirect elections
(IIT) Nomination
(A) (@, () and

A (B) (1) and ()
(© (M and (m)
e it %

(D) (1) and (In) .
X |1 g R ¥ -
D vaw g ¥

(I  sver g

() T §

(A) (D, () &
' JZ’) (I) ofrz (1)
89
l [

(D ®) @) e ()
@) M s ()
The difference between su
and RNA is -
(A) ‘presence of oxygen at 3-C -
(B) absence of nitrogen at 3-C
(C) presence of nitrogen at 2-C
(D) absence of oxygen at 2-C o
ST R ST, % e o A o ¥
(A) 3-C 9T fieiiom &7 suiafy
: 3-C WX MgZlem &1 arvE
“% 2-C 9T BN &y wﬁ%ﬁ’ﬂl
(D) 2-C 9T AT @1 o9

VS2 ] O / 3\“\?&%@4

( fon
gar molecules of DNA

AV

-

91

94

95

10

& 100w A2

- ¥ s % 600 TUTE ¥ afk S T ReY

. (A) Slide view

LA “arwaw -

_ i f the circley
What is the area o ,
d 12 cm. _ A
li)cnzoa(;ln cm? (B) 152~ cn:
EC) 192t cm?’ (D) 96 = cm—%5
16 &l @ 12%@@3@%@;@ afE:
gq i T ¥ g B A Rl E 2
@ 100 (B) 1527 &k

\ 2
©) 192n’ &2 (D) 967 &

The monthly incomes of A and B are in the ratig -

4:3. Each of them saves ¥ 600. If the ratio of

their expenditures is 3 : 2, then the monthly income
of Bis- , =

AamB'a%qﬁzﬁmﬁ4:3mfeﬁma%|ﬁﬂr

=4 @
I 3:2 8, df B &Y :

Y T —

(A) 2,000 ) ¥ 1,800 -
(C) % 3,600 - . (D) T 2,400

92 Which functidn is used to calculate remainder in
MS Excel? o e,
ST (Remainder) s ey % T T o wamw o
BT W B T F Ay 27 . _ ‘

+ (A) MOD() (B) INT()

(©)_.FACT() " (D) DIV()

93"+ Which of the following is not one of Power Point
view? - - . .

- (B) Présenfation‘ view
(C) Outline view

n (D) Slide g iew
P Qe et 0 VIO

é@)m‘q _ L XB TR oy
© *"W\RFTE? A _D) wme =
By which Other name is T rtai M .

- temple is Jocateq in Talvseflaraa1 (thrilsl\fvzorg??’ \»Vl\]ise
(A) Mahakalj ®) Tripura Sundarj ... -
(C©) Aawri.Mata (D) Gajlakshmj .
TS =T Rererent Wi 1 (AT ¥ fRergy 3,
ﬁmﬁnﬂm%*ﬁmw%?. ‘ -
(A) e L) B gy
©) ey wr (D) Trevreyy

Which of the follc

OWIr d
(A) Circle s ';[‘{i?;:gefrom others?
(C) Square . D) Cone
| ﬁwﬁ@raﬁﬁmw%ﬁm%?
g ®) P
= @ s



96 i
am in Raj asthan?

(A) Dhokra (B) Salar

(C) Khair (D) Teak |
prifre g& & ¥ B @ ga o § M & g

aresT AT 8 7
(A) HE by wr
(D) LRIELE]

(C) uT

97 BaClyyg) + NagSOy(pq) = BaSO, b +2NaCliyy) is

an example of

(A) Double displacement reaction

(B) Decomposition reaction

(C) Combination reaction. | |
(D) Displacement reaction ,
BaCly(yq) + NS0y q) = BaSO, L+ 2NaCliy :

T SEAE & — | . :
) Ty ot a
(B) frder ofubrar @
(C) darsT SATHIsAT BT
(D) frearae stfufpar &1

98 The rate at which information is transfe

< communication channel - :

© (A) Bitrate . (B) -Nano rate
(C) Pixel rate (D) Baud rate .
ST B gEr " (&) t{‘(ﬂﬁefa?rar @)

e . @
©) fmEd T - (D) T

99 .-Which is the .famous dance form of the Jaipur
Gharana? ® Kathak

(A) Bharatnatyam th
©) Kathakali (D) Odl%l?-
wRgT B v T P Tﬁﬁ -

(A) wEIEH Nk

(C) = - O ahfdl

- : .. Jocated 8t ——"
100 Guindy Natlonal.Pg‘rk I(SB) Cpennai

which one of the following trees is rich source of

red ina|’

| oy fo

101 The birth place of Gogaji is ____
(A) Kolayat (B) Dadrewa -
'(C) Mallani (D) Kolu |
UL U I R J
(A) P AB) =
(C) AT (D) aﬂq

102 Usage of Microsoft clip gallery :
. (A) to spell check
.(B) to add clip art pictures
(C) to remove slide
(D) to add word art
wiEAEe o AT BT T
(A) QF A5 B H-fC
(C) %S & &M & g
(D) =€ oné e & frw

103 The chairman or the member of Rajasthan Public

Service Commission can be removed earlier before

the completion of their tenure by - .
-(Aj President (B) State Legislature

. (C) Chief Minister (D) Governor
WWWW%mwammaﬁmﬁ

ﬁmﬁﬁﬁ%ﬂﬁimmmm%?
' (B) faur @ &ra

(D) T=gUIe &R

104 ﬁTHSTs‘;Iﬁ' rerara®’ W § 7 |
(A) & -~ (B) T
(D) T

105 Translate the following sentence into Hindi :
Women learn English faster than men. '
Ay o o & s el o dreh ¥
(B) el @Y Tout % Hewrae s el dre qe)
(C) gt 1 Akl ¥ vew sl deh whYl
(D) YoV aiRal & il il drad ¥

106 Who was the chairman of State Reorganization

(A) Ko":(ata. B ngaluru
A5
A) reehrdl i ) T
EC; ek “(P) &
1

Hvs2 1 O

Commission? e
O Vrad - © 1 Ko
(Tg:r iﬂ’hﬂmm F ATy B a?
(© G e (D; Eﬁ _&;i
I | [ Contd...



‘, ey o
107 The third highest peak of the Hlma;at)r'sat
(A) Dhaulagiri (B) N'mg&ll a
(C) Nanda Devi (D) Makalu

Wﬁﬂﬁ?ﬂ%mﬁﬁ%
(A) denhr (B) T T
ey ww (D)“?Ffi"g;

108 Which colour of light deviatesihaximum, in t_he:.;, w0

dispersion of white light by pngjn'?

(A) Blue (B) Green
(C) Red (D) Vlglet _ - .
ﬁmmmmmﬁxmﬁwwmmﬂ
aftreaw frafre @ ¥? 0 Sl -

(A) e _ - (B) ng sl

©) =@ . r/(/D') ?Fr;;}'f;ﬁi NN

f Sy

- 109 What should come next 1etter 12 the followmg

letter series? F

Prfifan s @w?ri‘f T ax&rcﬁim aﬂmmﬁ{q?

/K/EJMINHOG,PE"“
A) R . @®) E™M
© F o ,..,(D), Q

e

110 Which state sent military help¢for the assistance. | *

of the Maharao of Kota in the fgeedom struggle of
18572

(A) Jodhpur ®) Udﬁpm
(C) Karauli . (D) Jaipuf
1857 & w<=ral UM ¥ ShIT trerga
fpg g 7 Al weTAAT Aol ?
(A) gL (B) SOUX.
Pokail ®) ngl;
111 Fatty liver is present in - f‘ﬁ
(A) Kwashiorkor 3) Scurvy
(C) Pellagra’ * (D) Maradmus

%A gpd T E — \ o

(A) FafmEr@R § - (B) ®RAE

© ﬁrmmﬁf (2 @ W F
o

112 Who among the following participants stood first
runner up in Femina Miss India 20%2 Competition?
(A) Yamika Sain (B) SeenjiShetty
(C) Rubal Shekhawat (D) Kap\lsa Singh
i P givear 2022
s & aRE e T o L \k@,
(a) apm (B e

113 A narrow belt of P

ReEie |

117 If in a code lan

qﬁfﬂ’rﬁlﬂpﬁﬁwﬁi‘f@ﬁﬂﬁ“

yebbles dep051ted by rivers
parallel to the slopes of the Shivaliks is known as-
(A) Terai ©(B) Bhaggar

' D) Bhabar
©) Kankar (
Qe o1 & GAFAL At g i%rmt?r =AY w{’mﬁ

aﬁqﬁwﬁfﬁﬁf%“
(A) TE

(C) W%

J Wi
: '(D)_ 'm?src'

Who was declared the Indlan Film Personallty of
‘the year at IFFI (Intematlonal F11m Festlval of
India) 2022 held at Goa?

(A) Chiranjeevi (B) Prasoon Joshi

(C) Manoj Bajpai (D) Hema ‘Malini

B S 1 o s e e 0 ('*Tr{??ﬂlam"(‘rsaw

e GATE) Zozzﬁmaémwrreﬂuﬁmwﬁﬂa

. i fpar T ? ,
) e LB’) El'g"r'\?ﬁ-‘éﬁ _

(C)H:ﬁﬁmﬁﬁt?r (D) ¥l

115 Under'MNREGA, ‘minimum -~ " days

* . employment is provided. E; S
HAC . Sfera =g _ T 1 Qe

LA).1200 @130 - T

“'(C).-150..-' D) 100

The beneﬁclary group of Rajasthan Shubh Shaktl
Yojana is’ -

 (A) Street vendois

22; Women business persons

Girls and women of lab

(D) Startup owners o famlly o
ﬂq Qm a?l’ X : [ ,!:'. .

(A) Fewer e ‘ W ¢ 5

(B) Wi =y Rt e

(©) -t wfeare = |

. CoUR guage CREW is wrltten as 96 anc

T is written as 154
be writterd in. that languaget;l gphow w’“ CRA i

s
COURT%; ?;T%@?REW B 96 forar e & A

R e R o, & 1 9 T F CRATE
Ay 9 ? ‘

(C) og “"?3 94
{ AT



=

: v
: I i £1 litre?.
18 How much percent is 200 ml o
1 1 et @1 faaen ufasta 200 Rl %2
(A) 2% ) 20%
(C) 200% (D) 0.2%

119 Which of the following factors is not responsible
for governing the climate of Rajasthan?
(A) Distance from Sea

(B) Prevailing winds v
(C) Rainfall being fairly uniform
(D) Temperature :

Preiifed & A B W B

freiia w0 & T S
Ay sgza gt . |
(B) wafea o=

AC) i wa
(D) TEe

T & A w

.. ..

120 A 14 years old student is not able to see cléarly,
the questions written on a black board placed at a

distance of 5 m from him. The student is suffering |

from which defect and to correct vision of his
eyes, what type of lens should he use?

= (A) Myopia, Convex lens :

. (B) Hypermetropia, Concave lens

.., (C) Hypermetropia, Convex lens.

" (D) Myopia, Concave lens ! a
T 14 o o1 frenedt yam ged W R ge wse
5 . @ T ¥ e T T T ¥ frenedf fhe W=
¥ A ¥ ol @ @ wTt I g B e
HEmEe .

AB) X 3Rz 3, s Fa
(C) TX 3 A, Saw Fw
(D) fre gfe 2w, s o

a2

e . Jaipulf' ¢
| XC) . Taipur’,
v -
YT "‘_

ion is —
(A) squafé’pyramidal
(B) octal{zdral
(C) pentagopal
(D) trigollgil,- bipyramidal
Xe Fy" aq;eff A TETE -
A) = R
(B) srewmchm
L(C) dami g
o S
124 Which Ragif (Noble) had given shelter to Bhimji
Charan dlir_;gi.g the 1857 Revolt?*
(A) Jodhggipgh (B) Ranjeet Singh
©) None.of these (D) Kesari Singh

123 Structure of Xe 7F5+

1857&7%{&1:5%}71?'??1 st amreer &l fomg e (@mr=)
J g & e CLE ' :
-_/?A)"Eﬁﬂﬁﬁ' -~ (B) UreidfdE
©) ¥ S - (D) Fwdfe
125 Where isgajctory of Parle Biscuits located in
" Rajasthan?.,. . .

(B) Neemrana
~-(D) Bhilwara

(A) Bh arét‘fzilr

(A) gy (B) Fwxrm
©) ST - (D) Hwast

126 Where is fiié fort of
" (A) JalorE¥}
" () Alwdry »

Achaigarh situated?
. .(B) Mount Abu -
(D) Ajmer

R Lo A) ALY I
121 In which district of Rajasthan factory of Havells E C; GJFEF{:}% . \(('é) AN S
India is located? - (B)' I ' : R : .."(D.) ST
) Togur o (D) Alwar . . 127 The excavation work of Ah 5, S
©) Jaxg;ném ar <R A % R 27| under whoge e ar was accomplished
e ??Z‘E’ e L A VS Wakankay p('B .
A “agT - (D) @Y » (C) BB.uy .o ) H.D. Sankalia
©) w=g - Uil ormew gy WW(D) V.N. ‘Misra
122 Neha walked 5 km towards west from her schoo], T (A) 'cﬁQHR:FW Y Tiem o ar?
Then she turned to the right and walked 4 ©) Nty am - D) TR, iy
Again she turned right and walked 5 km, Inwhich | =+ LR D) A, fy
" direction she is going? L N P e T, Py
Eé; South 8%; II::;:lst] A 8 f‘ pair 0{"%?1168 With- contrast (
= £ orth [ ' B emed as ; LR “._‘;\:_1.:4 ey . as [ng Cllaracter
et o o e TS BT | (A) ooy e ‘ S E
ot 5 ey ey tlae ﬁz:r ﬁ.: T T gy (C) Allele S (D; Heterozygote
(A) =y . ,@% RAGET IE ey sﬁ:;a; HomOZ}'gote
(C) ufam D (A) b B oy
HVS2 ] O | (D) B
| g 13 o



. .y was the
29 Under whose chm_rmanshlP Wt

Prajamandal founded i.n 19387
(A) Kapurchand .Pfllm
(B) Jamnalal Bajaj
(C) 'Balwant Singh Mehta |
/ : arma " .
(D) Nayanu R?;;[n Shart S ¥ 1938 X
g’
(A) HYIET A
(B), STHATAA STl
A& www e e
(D) &I i | | y
s . [:
130 Any kind of letter generally ends w1t}1 ! % |
'/2\) Signature (B) Subscription A
(D) Salutation

\
i

(C) Heading

131 The Jain Granthas Harivansh Puran and

Kuvalyamala were composed during the reign of
Pratihar ruler '

-(A) Rambhadra
(C) Mahindrapal 1

‘(B) Mihir Bhoj
(D) Vatsaraj -

W s % s aw § SN e
FRANIA T Gaaen o e g
(A) 9% AB) e .

(C) =l wam \92’) ERSKSS |
132 In how many districts of Rajasthan Tribal Area
. Development Scheme is being implemented?
TeTed™ & R Ryel & S &y
B S W R?

(A) 8

©) 12 & 10

D) 6

133 ‘Mahi Kanchan’ and ‘Mahj Dhay

varieties of which crop? al are the
(A) Jowar (B) Maize -

(C) Gram (D) Bajra

(A) = ) :
(C) = (D) 3w

134 In which of the following districs

.o . Mah '
Shekhaji Armed Force Training A  “Harao
construction? & cademy 1S undey
(A) Churu (B) Sikar

(©) Ganga_nagar (D) Bikaney
fpfatad ¥ @ fhw R ¥ weng

Mewar | 139}

instru—étio

kn,ownlai k: spee (B) .Access time;
(A C)3 gcessing cycle (D) Data speed

© 1 ’m o o TEAI WA, B U g

i 3

i (B) THE <EA

e) (D) = Tl?rs’
' ity, ‘Invest Rajasthan Summit’ s
¢ i)ligx;:;lcll f(';rgn 7-8 October 2922‘?
(A) Bikaner (B) ‘Jaipur
(C) Kota D) _J.odhpur
7-8 arerE 2022 T TFE IR H TR TSI e
1 e fRar T ?
(A) d@ET - AB) SEgT

11w

ps and e T

ENIEY
SRR 6 (cycl

137 In which medical college of Rajasthan, Institul

~ of Paediatrics and Neonatology will be establishec
. (A) SMS Medical -College, Jaipur '

(B) JK Lone Hospital, Kota _

(C) JLN Medical College, Ajmer -
(D) SN Medical College, Jodhpur |
TN & fpw Afsaww wiew ¥ Rz U
?{W TR Y T ) S 7
. WOGE. Afseww B, sw
IE) %% A e, e

JO) Aumm oy
) TH. AR bierst, eremy

Y members are nominated by '
in the Legislative Council of a St
of the total membership
© e of the total membership
©) 1 of the tota] membership
16 of the tota] memb
AR
€7

~ Governg,
A) 113
®B) 1

ership

Wﬁﬁaﬁwﬁw\ﬁﬁmﬁmm

e G P 7O R

(A) T B) Qe

(C) T _SB) A
H'\/SZ]A<>



0 ‘Chhappan Plain’ is situated in between -
A) Banswara and Dungarpur

B) Chittorgarh and Pratapgarh

c) Pratapgarh and Banswara

D) Banswara and Kushalgarh

oo @ e Rea ¥ -
(A)Wﬁw%ﬁa
(D) ST ST HIwTTE % S

..,_\A,_\A

(41 Choose the correct option, f01 the. Passive
construction.

Everyone calls him a peacemaker.

(A) He is called to be everyone's peacemaker.
(B) He is called a peacemaker.

ﬁ) Everyone is called a peacemaker by hun
D) A peacemakel he is called.

142 ‘Framey smaﬂa‘é‘raﬁx—%wéz%—
(A) o + quor ) &+ T
(C) I + Ty (D) o + Ty

143 The lar gest inhabited riverine 1sland in the world
is situated in the river -

(A) Indus (B)  Godawari

(C) Brahmaputra (D) Ganga R
foa o1 TR w7 omertm W dw T
¥ R ¥

(A), fig (B) Trrrd

W) g (D) Tm ’

144 Fill in the blank with appropriate determiner from
the options given below :

pen will do. :

(B) Much

(D) Many

(A) Any
(C) Enough

45 World's largest museum of Harappan Cultme is
belng setup in - '
(A) Kalibanga (B) Banwali !
(C) Rakhigarhi (D) Lothal

T gagar UG fga w1 w9 T8 WO qo

146 “Kailash Sankhala’ was associated with -

(A) Bishnoi caste
(B) Tiger conservation
(C) Black deer conservation
(D) Snake conservation
B e ared & —
(A) T wnfq &

JB) @ g §

() @ e e

(D) =iy wwawr &

| 147 An aggrieved person can ﬁle a writ petltlon for

the violation of fundamental rights in :

(A) District Court only '

(B) Supreme Court only

(C) High Court or ‘Supreme Court

(D) Hloh Court only’ »

e St 3 & B UX wri%m a:ﬁﬁ fz m&m

U DT G

(A) Faw e e ¥

(B) %aw Semaw =T A

KC) T e q1 Seadqd ey §
(D) ¥ew 3= W ¥

148 Which is the rank of Rajasthan in Indla in terms
- of population in 20119

(A) 27™ Rank (B) 12th Rank
(C) 8t Rank (D) 24th Rank

91 Bl e STTEET B gRE F TR B 2011 % &6

a1 H R 7
(A) 27 @ (B) 12 4f my
) 83 o (D) 24 =f my

149 Fill in the blank with the correct option.
The teacher taught us that the earth

round. » '
(A) were - (B) was
©) are, . D) is

150 The lens founula n Cartesmn coordinate system
is —
“where, u = object dlstance from optical center
v = image distance from optical center .
f= focus distance from optical center "
wrira Pt o ¥ °F B g ¥ -
T, u = Yo &% ¥ 9 @ gl Pﬂ‘i’f’r
y = mﬁﬁ Eee q Wﬁiﬁ@ El {ﬁ '(/J‘ir
f= wﬁéw{i %% ¥ e

111
U =1L ®y) 75
\//)TE?;% _"af (B) aarel § (D),_L‘=_1_+;l)- .
(©) RUCIR| il (D) wrere o ©) f=v+u o~ B
}1\132 10 [ Contd...
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